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U4Lq!9!S!I9i!edi9!2.4 Expansions and compressions of Funclions

1. lndicate the transformation from the function on the left to the Iunction on the right. What are all the

different possible transformationsi
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2. lndicate the transformation for each of the following:
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3. Given y = / (-t), inaicate the new equation after each transformation in ihe order stated:
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1. A Reflection in the y- axis and 4->-d-
2. A Horizontal compression by a faclor of 1/3.
3. Ashifted 3 units left. .X+ oe3
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1. A reflection in both the "x" and',y', axis .l- -
2. Ahorizontal expansion bya factorof 2, 2a++
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1. A reflection in the line -r = ,., D.fl4., ,'!t a

2. A Hori2ontal compresslonby 1/3, and 4-3.
3. A shift of 2 units eft. a -4\1
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1. A vertical expansion by a factor of 2, b+ t:J
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civen the graph of 1. = 7 (_t), araw the graph of the fo low ng:

) t{.c" t +

_r,= o.i7 (:-t)
1

b'{t
\0

(a

'!) t.. 5 -3 /'
(,,

C:,

U:R.
!.R,

i) -r'", l( -r 2)

I
i
I

-3r( 2.r.-6) I il:[' rt H,s. "t
V.Q, U

V.S- \D

7 lf(a,b) is a point on the Braph of .) =/(.r),det"r.'n"th".oordinut"rriihoJthefolowingfirnctions:
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.l "i,u I11. For the previous questlon, what is the reflecticf iiacross the ine

across the x axis. Flnd

$+\\. moc+\t

Lr{

. , r .t A 1o.r. o \^.r^o ir lo1 \o,.D. oL .a1BL\4:11

-4,w
-dt, *'ll
,[:it*

A[ h.

-a)C+t :> n=-lJ3
)

l< < -rltl

.t l (r)= 
__ :3

a

\^-q = 2-\)-a\\, t'lar
5=+*4,,/

a Lnca

_f - f .

n*V=-z-tt=$

on s=Qn.,C -l;,\

1:J. Draw the graph of l'=

I ,- :.../iTt anct I -

1

d.e

1

ho,a c(

uCre(&*tor

6


